South Lanarkshire Council Problem Solving in Mathematics Second 1

Lost in the Forest I A

While hiking in the forest one day, Bill became
lost.

He came across a marker which indicated he
was at the exact centre of the forest.

Now Bill knew that the forest area was a square;
60km on each side.
So he decided to walk out in a straight line.

But, it was very dark and Bill didn't have a compass,
so the route he actually travelled went like this:

5km south, then 10km West, then 15 km North, 20km
East, 25km south and so on.

How far did Bill walk before he got out of the
forest?

Which side of the forest did he exit?




	While hiking in the forest one day, Bill became
	Lost in the Forest

